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Measurements

Measurments Value
mean signal (mean) 15461
Signal to Noise Ratio (SNR) 2352
Signal to Fluctuation Ratio (SFNR) 2501
Percent Fluctuation 0.06
Dorift 0.40
Radius of Decorrelation (RDC) 7
Mean Ghost Percentage 2.197
Standard Deviation (std) 0.87
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Smoothness -X

Smoothrness cFHHMY in mm - ¥i [min mean maxl = [E.116 2.198 2.27°41
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Smoothness -Y

Smoothrness CFHHMY in mm - ¥& [min mean max] = [2.395 2.466 2.5351]
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Smoothness -Z

SmoothnesscFHHMY in mm — 2% [min mean max]l = [1.362 1.973 2.3431]
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Gho=%t mean percentage

Ghost

Mean of ghost wvoxels as ¥ of non-ghost [masked] mean
(ghostmeans brightghostmean? = (2.197, &6.847)
Clower is better)
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